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ANWER KEY   

Q1.i.3,200km    ii. First populated      iii. 2hrs        iv.  Kanyakumari  v. 2.4%   

  

QII. i. India lies in the Northern  Hemisphere.   

  

ii.The Tropic of Cancer divides India roughly into two equal parts.   

  

Iii.India is bound by young fold mountains in the northeast, northwest and north.   
  

Iv.Why has 82 
0   30 ’been selected as the standard meridian of India?   

  

V.Suez Canal opened in  1869.   

  

Vi. The spices, muslin ,tea and cotton were exported from India.   
  

Vii. Punjab, Rajasthan, Gujarat and Jammu and Kashmir have common border with Pakistan.   
  

Viii.The local hereditary rulers  ruled the princely states.   

  

  

  

  

  

  

  

  

  

  

  

  


